
展開の しかた

(a tt b+5)(a tt b-3)

a+b=Aと お くと、
(a+b+5)(a tt b-3

=(A+5)(A-3)

=A2+2A-15

Aを a tt bに もどすと

=(a tt b)2+2(a+b)-15

=a2+2ab+b2+2a+2b-15

【問 1』 次の式を展開しなさい。

①  (χ tt y+1)(χ  tt y+2)

②  (a-2b-3)(a-2b-4)

③  (2a-3b-4)(2a-3b+2)
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④ (a一 b+6)2

⑤  (χ +2y― z)2

⑥  (χ tt y+3)(χ +y-3)

(2 a tt b― c)(2a― b tt c)⑦



展 開 の しかた

(a tt b+5)(a+b-3)

a+b=Aと おくと、
(a+b+5)(a tt b量

=(A+5)(A-3)

=A2+2A-15

Aを a tt bに もどすと

=(a tt b)2+2(a+b)-15

=a2+2 a bttb2+2a+2b-15

(χ +a)(χ  tt b)

=χ 2+(a+b)χ

+ab

【問 11次の式を展開しなさい。
①  (χ tt y+1)(χ +y+2)
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②  (a-2b-3)(a-2.b-4)
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④  (a一 b+6)2
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⑤  (χ +2y一 z)2
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⑥  (χ +y+3)(χ +y-3)
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